the-L g olg Jhx WHow o
2L,

—

rlo

o
Adudh. Zx 2 A

tlo

D 4:9= 99 49 tist H] ® 7:10= 7110

® 3:8 = 3189 H| @ 6:7=62] 7] Tt H]
® 2:5= 59 tigt 29] H]



(o]

—

-

it

o~ o~~~ —

>~ W N

N N Nt ~ ~

)]

AL 10 6@,
Flo ox

o)

=

NNy

oz > >

e e

o x Z

i
=2

rr

N

Al



e AL ol ARG

3. T :4EFEEYY
@71:]14 @4(}"‘:]]@'79’]]3]
@ 7 9] 40] g5t u] @ 734 o] H|

© 7ol et 49] 1]



[ [t gore 22 Atz Ao,

8:3— [ Joldigt] |9l H




_—
jans
il
o
T
ol
i
o
o
il
il
)
u
=
)
o
T
L of
"<
2]
o ™
o
™
o
™
ey

5.

@ 0.9% ® 25%

® 36%

®© 2%

@ 0.36%






7. OdE B, 7Fe) Aol gt o Ao HE ME e A2,

> 00000000




8. 20 °f tigt 13 o] Hlg2 WEER 7|29k oA HERHA 2.

B e %



9.

Bo



oA 80 %E A

|gole =22 H9he 6000 Y

u

10.

=



